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1- 1f f(x) =+/sin 2x — csc x, then f\(g): B Y= () 20 13)
................................... =(Mm )30k
¢
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2- Ifthe curve: y = (2x — a)® + 4 has an rsowal) 813
inflection pointatx =5 ,thena—......... £+ (- e V)= 2
..... = POl o= v die D At

@ 2 ® 4 : @ O
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CIA 7 (VG o)l - A=alyol) dulinl) A



LI 5901 - (g 5oclad M1 ARUILY) Sl g JuSLTIN - ¥+ VA/ Y01V (ual 5ol plad! - Dalal) A 3101 At 500 ALGYN B31gs ol

3- A lake infected by bacteria has ledlae 0 L 2SIL sle 8y
been treated by an antibacterial .If L aSsae 587 131L Sl sbae
the number of bacteria z in 1 cm? B Jams 30 s TV (B
after n day 1: given Ey the relation ‘. Jr[(:i)-iJ :‘:]v ()
z(n) = 20 (— —In (—)) +30

12 12 Vo >0 >
() W'hf':n the nu@ber o'f l?acterla be S5 01 o IS 5Ky
minimum during this interval? L o b (L)
= WA (-
(ii) What is the least number of bacteria | =~ = < o ‘p_ 7 0\
during this interval? el aties
4 atwd F1]
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4-  Find the volume of the solid generated

by revolving the region bounded by the
two curves ¥ = X*and y=3x-2

a complete revolution about the x — axis.

Q\Jjay@u\ﬁé\ﬁ#&j
Oeead) o by gzl dilatal)
Voo V= =2
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CIA 7 (VG o)l - A=alyol) dulinl) A



(L 5 9 - (g soclody ¥ AGLILY) JalSTUN g LA - Yo VA/Y+ WV sl k) pLat! - Aoladt Ay 53U Aat Al ALEH) Blg yLomcial

5- If y= e then Z—i =

@ «x
© e

@ex
@ 1
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7-

Answer one of the following items : 0 A8 gl s
(A) Find : [ x (x + 2)® dx PEALEI 1,\@\ ()
(B) Find : [ (x + 5) e” dx >80t ) | wsl (o)
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@ 1+n(x+1)+c & (V) O
b x—Injx+1]+c &+l P @)
© x+in(x+1)+c S (V) P o ®
@ x+njx+1+c SN ] P ©
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T

9- J§ sec?xtanxdx =...........

® o ® L Qe O
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10- Answer one of the following items: oSV 58,8 g s
(A) Find the local maximum and Sy (ol o) a5t (0)

minimum values (if found) of the

function f: f(x) = x* — 2x?

A (@25 0f) delonal

T Yt = (o) s

ALEMJ\ @2.’3\ V..d\ »ji(u)

(B) Find the absolute extrema values of 210 2aladlt g il V‘ab

the function f: f(x) =
interval [-1,3]

[ror-]am g - SE ()3

AN/ IV QSN yoaJl -
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3x _ VL .
11- lim(1+i) T _v‘(w+\)\mr.a

X—00
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12- 1f the curve of the function BN goadd O 13)
o .. ¥

f(x) =ax?+ 12 x + 1 has a critical daiy N+ e AV P = () 3

pointatx =2,then a =......... |77 $ols POl ¥ s o

@ 12 ® -3 - @ wo (D
© - @ 3 r (O - &
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13- Find the equations of the tangent and the | gosedly oladdl Holas asf
normal to the curve : y = 3 + sec x at the | el wie 0 B+ ¥ = o ol

point which lies on the curve and its sl 5 w—’M"v S B S
: 2 T :
x - coordinate equals ?” o Sl ()
16 arN F]]
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14- Find the area of the region bounded by | o 5 sl Lakata)) d s sl
the curve y = V2x and the straight line V= 2 ekl

y=x o = 0P ity
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15- 1fy=2t3+7,z=t*>—4,

£-T0 =Y VAT = o S 13

then the rate of change for ¥ with respect | & (! &=l o2 s Jaae OB

tozequals...........

@ 2t b 3t or Q@
© 6 @ 12 v ©

-
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16- The curve of the function
f:f(x) = (x—2)e* is convex

LJQJ\JJ\W

Ta (Y- ) = (0r)s e

downwards in the interval ............. | = 8 3 Jal Gase ) 5G

@ ]—O0,00[ @ ]_1'2[ ]Y‘\'[ @
© 10,2[ @ 10,00 Jooc [ (3

Joocoo-[ (D)
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17- 1f sin x= xy, prove that : el e = e b 0813
x*(y +y") + 2cos x = 2y V= o b Y (et 2)
20 AWM aals
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18- Ifxe?=2—In2 + Inx cred TV -Y = 813
andd—x—6atx—2 =0 ﬁndd—y S S
dt =4,y =1, dt J.a.,o=uac\‘=u~"\=:);75
o S B
O s A>9
Al cgls
21
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